Further Practice Problems

Q1. With a game tied in the bottom of the 9th, David Ortiz hits a baseball with an initial velocity of 40 meters per second at an angle of 35 degrees above the horizontal. 

a)What is the vertical component of the initial velocity?


b) Compared to the horizontal component of the baseball's initial velocity, the horizontal 
component after 5 seconds will be:



A. Less



B. The same



C. Greater



D. Surprising


c) In what direction is the acceleration on the ball during its flight?



A. Up



B. Down



C. Forwards



D. That way *points*


d) How many seconds does it take to hit the ground?


e) If the ball must reach a distance of 350 meters to be a home-run, did he win the game?

Q2. Jim is a rather foolish person. On this particular day he is ice-skating on the top of a building that is 150 meters tall. He slips and slides over the edge with an initial velocity of 5 meters per second. Luckily, there is a trampolining tournament going on at the base of the building. The trampoline he falls upon will save his life, provided his speed does not exceed 50 meters per second in the vertical direction. Does Jim survive to be foolish another day?

Q3. An arrow is fired horizontally towards the bulls-eye of a target. If it takes 2 seconds to reach the target, by how far will it miss the exact center? (As usual, neglect air resistance.)

Q4. Circle each of the descriptions below if they describe a velocity.


A. Negative seventy miles per hour.


B. Bob ran north at 0.5 meters per second.


C. The spaceship could reach two parsecs per hour.


D. The bullet was fired at an angle of 40 degrees and traveled at 2000 feet every second.


E. He danced in the positive direction, then he danced in the negative direction. 

Q5. A football is kicked at an angle of 30 degrees and a speed of 10 meters per second. It follows a parabolic path and lands without obstruction. Where on the parabolic path is the football's velocity the lowest? And what is the magnitude of this velocity?

